100# >3+ 4 B # i 4 3FF5E g5 : 45050 - B
S

e
ﬁi El : ;:\\'7—‘\ ;ﬁk = g 7}7595,‘%
TR 130 4 T
%/lj% : (—')"‘ VRt g’_‘;e‘l_ B % .
) A 'dj/%\\» IT:‘@E&P :I""Pé‘%\%\%i;' g ]ﬁﬁ@hlé’ﬁ_:ﬁ]é—éé A e & ’é‘%\_” ng—%’z , 3 J—,zn\ .

Sl H LR? (10 4) PARFEREARFERI LT RAR? (5 4) B 2R
2 ? (54)

SRR AR A E pESER . (204)

w ~ ()3 PEH 5K 200 2 2 ~ £ 20 25 0 3% Denier ~ NEC 2 Tex = fa 4| & 4 & % 7
f’*&ﬁﬁ? (15 &)
O7F - ERERFEAET 5 RI60texS» £ & 100 2 ¢ » FRIFFLERL 52507
(5A\>

Iy

O Kt t R R PAR? (54)

Oirm B &Y kel 7?2 (54)

OB T TN T REFL RS 2P (54)
P e ¥ PR 2 (54)



